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IMPORTANT NOTES
egRoiw.kZ funsZ'k

(A) ç'uksÙkj iqfLrdk esa ç'u gy djus ls iwoZ mlds layXu vks- ,e- vkj- i=kd dks Hkyh çdkj ls Hkj ysaA

	 Please	fill	up	the	OMR	Sheet	of	this	Question-Answer	Booklet	properly	before	answering.

(B)	 fgUnh O;kdj.k@fgUnh fuca/ ds ç'u&i=k dks NksM+dj] vU; lHkh ç'u&i=kksa dk fgUnh vFkok vaxzsth esa mÙkj fy•k tk ldrk gSA 

	 Except	Hindi	Grammar/Hindi	Essay	question	paper,	all	other	question	papers	can	be	written	either	in	Hindi	or	
English	language.	

(C) vH;fFkZ;ksa dks vius mÙkj fu/kZfjr 'kCnksa dh lhek ls vf/d ugha fy•uk pkfg,A bldk mYya?ku djus ij vad dkVs tk,¡xsA vH;FkhZ mÙkj nh xbZ 
ykbZuksa ds vanj gh fy•saA •kyh LFkku ij Xi;k u fy•saA

	 The	candidates	should	not	write	the	answer	beyond	the	prescribed	limit	of	word;	failing	which,	marks	will	be	
deducted.	Candidates	should	write	the	answers	within	the	given	lines.	Please	do	not	write	in	the	blank	space.

(D) çR;sd ç'u dk mÙkj ç'uksÙkj iqfLrdk esa fu/kZfjr LFkku ij gh fy•saA ç'uksÙkj iqfLrdk (jiQ dk;Z ds i`"B lfgr) ds vanj fdlh Hkkx ij vuqØekad] 
viuk uke] vU; dksbZ uke] irk ;k vU; dksbZ igpku fpÉ vafdr u djsaA mÙkj iqfLrdk ds lkFk vU; dksbZ lkexzh layXu djuk oftZr gSA bu funZs'kksa 
dk mYya?ku djus ij vkosnd dks dksbZ uksfVl fn;s fcuk mldh mEehnokjh fujLr dh tk,xhA 

	 Please	write	answers	only	in	the	prescribed	space	of		booklet.	Do	not	make	any	mark	of	identity	inside	the	booklet	
(including	rough	paper	page)	like	roll	number,	name,	any	other	name,	address	or	such	other	mark:	Do	not	enclose	
anything	with	the	answer	booklet.	The	candidature	of	candidates	violating	these	instructions	would	be	cancelled	
without	even	giving	them	any	other	notices.

(E) vH;fFkZ;ksa dks funZsf'kr fd;k tkrk gS fd ç'uksÙkj iqfLrdk esa çR;sd i`"B esa cukbZ xbZ ckMZj ykbZu ls ckgj çR;qÙkj ugha fy•saA ckMZj ykbZu ds ckgj 
fy•s x;s mÙkj dks ijh{kd }kjk tk¡pk ugha tk,xkA

	 Candidates	are	directed	that	they	should	not	write	(answer)	outside	the	border	line	in	every	page.	Answer	written	
outside	the	border	line	will	not	be	checked	by	the	Examiner.	

(F) ;fn fdlh ç'u esa fdlh çdkj dh dksbZ eqæ.k ;k rF;kRed çdkj dh =kqfV gks] rks ç'u ds fgUnh rFkk vaxzsth :ikUrjksa esa ls fgUnh :ikUrj ekU; gksxkA

	 If	there	is	any	sort	of	ambiguity/mistake	either	of	printing	or	of		factual	nature	then	out	of		Hindi	and	English	
version	of	the	question,	the	Hindi	version	will	be	treated	as	standard.

(G) vH;FkhZ dks ç'uksÙkj iqfLrdk lhycan çnku dh xbZ gSA

	 The	Question-Answer	Booklet	is	provided	in	a	sealed	to	the	candidate.

(H) vH;FkhZ ç'uksÙkj iqfLrdk ds Åij layXu bl vks- ,e- vkj- i=kd ij lHkh okafNr fooj.k uhys@dkys cky isu ls lko/kuhiwoZd HkjsaA è;ku j•sa fd 
;g vks- ,e- vkj- i=kd dgha ls dVs&iQVs vFkok fdlh Hkh çdkj ls {kfrxzLr ugha gksA

	 Candidate	should	fill	up	all	the	desired	details	on	this	attached	OMR	Sheet	of	Question-Answer	Booklet	with	
Blue/black	ball	point	pen.	Please	ensure	that	this	OMR	Sheet	is	not	torn	or	damaged.

(I) ;g vks- ,e- vkj- i=kd nks Hkkxksa esa gS] ftlesa dfri; lwpuk,¡ iwoZeqfær gSaA 'ks"k dh iwfrZ vH;FkhZ dks djuh gSaA

	 This	OMR	Sheet	consists	of	two	parts	 in	which	some	information	is	pre-printed;	remaining	details	have	to	be	
filled	by	the	candidates.	

(J) ;fn ç'uksÙkj iqfLrdk dgha ls dVh&iQVh ;k veqfær gS] rks rRdky oh{kd ds è;ku esa yk nsa rFkk mls cnyok ysa] vU;Fkk mldk nkf;Ro vH;FkhZ dk 
gksxkA

	 If	the	Question-Answer	Booklet	is	torn	or	not	printed	properly,	immediately	bring	it	to	notice	of	invigilator	and	
get	changed	the	Question-Answer	Booklet,	otherwise	the	candidate	will	be	liable	for	that.

 fo'ks"k uksV % vH;FkhZ }kjk ;fn vks- ,e- vkj- i=kd ij xyr lwpuk Hkjh tkrh gS ;k mls fdlh çdkj dh {kfr igq¡pkbZ tkrh gS rks vk;ksx }kjk 
laiw.kZ ijh{kk gsrq vH;fFkZrk fujLr dh tk,xh vkSj mlds fy, vH;FkhZ Lo;a mÙkjnk;h gksxkA

 Special Note:	 If	 there	 is	any	wrong	information	filled	by	the	candidate	then	his/her	candidature	for	 the	entire	
examination	shall	be	rejected	by	the	commission,	for	which	he/she	will	be	held	responsible.

SPECIAL INSTRUCTION
fo'ks"k funZs'k

(A) ç'u&i=k nks •.Mksa ^v* rFkk ^c* esa foHkkftr gSA çR;sd •aM esa rhu eq[; ç'u gSa ftlds varxZr Øe'k% vfr y?kqÙkjh;] y?kqÙkjh; ,oa nh?kZ mÙkjh; 
mi & ç'u iwNs x, gSaA nh?kZ mÙkjh; ç'u esa vkarfjd fodYi fn;s x, gSaA çR;sd ç'u ds le{k mlds iw.kkZad vafdr fd;s x, gSaA 

	 The	question	paper	is	divided	into	two	Sections	as	‘A’	and	‘B’.	There	are	three	main	questions	in	each	section	
which	are	very	short	type,	short	type	and	long	type	questions,	where	there	are	sub-questions	in	each	question.	
There	is	internal	choice	in	long	type	questions.	The	maximum	marks	are	printed	in	front	of	question.
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SECTION-A/[kaM  - v

1

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA    (2 × 15 = 30)

  This question contains 15 very short answer type sub questions. Answer each 
question ideally in 20 words. All questions are compulsory. Each question carries 02 
(two) marks.   

ç'u % (1-1) iq#"kkFkZ D;k gS rFkk blds fdrus çdkj gksrs gSa\

  What is Purusharth and how many types are there?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-2) Hkkjr dh Hkk"kkvksa dks eq[;r% fdu&fdu Hkk"kk ifjokjksa esa oxhZÑr fd;k x;k gS\  

  In which language families are the languages of India mainly classified?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________
  

ç'u % (1-3) xzkeh.k ;qok Lojkstxkj çf'k{k.k dk;ZØe (TRYSEM) dk mís'; D;k Fkk\

  What was the objective of Rural Youth Self-Employment Training Program 
(TRYSEM)?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-4) dqy çtuu nj D;k gS\  

  What is the total fertility rate?   

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % (1-5) vxfj;k

  Agariya

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

    

ç'u % (1-6) fu"Øe.k laLdkj D;k gS\ 

  What is Nishkramana Sanskar?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

    

ç'u % (1-7) liQsniks'k vijk/ fdls dgrs gSa\ buds eq[; mnkgj.k D;k gSa\

  What are white-collar crimes? What are their main examples?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % (1-8) ty thou fe'ku dk eq[; mís'; D;k gS\ 

   What is the main objective of Jal Jeevan Mission?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA      (2 × 15 = 30)

  This question contains 15 very short answer type sub questions. Answer each question 
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.   

SECTION-A/[kaM  - v
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ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA      (2 × 15 = 30)

  This question contains 15 very short answer type sub questions. Answer each question 
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

SECTION-A/[kaM  - v

ç'u % (1-9) 2008 esa xfBr ;'kiky lfefr ds dksbZ nks mís'; crkb,A 

  State any two objectives of Yashpal Committee constituted in 2008?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________    

ç'u % (1-10) xks=k D;k gS vkSj ;g fganw lekt O;oLFkk esa D;ksa egÙoiw.kZ gS\

  What is Gotra and why is it important in Hindu social system?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________      

ç'u % (1-11) ,d jk"Vª dh çeq• fo'ks"krk,¡ dkSu&dkSu lh gksrh gSa\

  What are the main characteristics of a nation?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________ 

ç'u % (1-12) varj&jkT; çoklh etnwj vf/fu;e] 1979 ds varxZr Bsdsnkj ds fy, dkSu&dkSu lh 
ckè;rk,¡ fu/kZfjr gSa\

  What are the obligations prescribed for the contractor under the Inter-State Migrant 
Labourers Act, 1979?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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ç'u % (1-13) 1951 ls 1981 rd Hkkjr esa tula[;k o`f¼ dh D;k ço`fÙk jgh vkSj ;g vof/ tula[;k 
foLiQksV D;ksa dgykrh gS\

  What was the trend of population growth in India from 1951 to 1981 and why is this 
period called population explosion?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________ 

ç'u % (1-14) tSu /eZ ds iap egkozr dkSu&dkSu ls gSa vkSj muds D;k vFkZ gSa\

  What are the Panch Mahavratas of Jainism and what do they mean?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________  

ç'u % (1-15) Hkkjr esa mnkjhdj.k ds rgr fd, x, çeq• vkfFkZd lq/kj dkSu&ls Fks\

  What were the major economic reforms carried out under liberalisation in India?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________      

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA      (2 × 15 = 30)

  This question contains 15 very short answer type sub questions. Answer each question 
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

SECTION-A/[kaM  - v
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ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA  (7 × 10 = 70)

  This question contains 10 short answer type sub-questions. Answer each question ideally 
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.

ç'u % (2-1) okuçLFk vkJe dh fo'ks"krkvksa rFkk mlesa O;fDr }kjk fd, tkus okys drZO;ksa dk o.kZu 
dhft,A

  Describe the characteristics of Vanaprastha Ashram and the duties performed by a person 
in it.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________  

ç'u % (2-2) Hkkjrh; lanHkZ esa ?kjsyw fgalk dh leL;k ij çdk'k Mkyrs gq, blds çeq• dkj.kksa ,oa orZeku 
fof/d mik;ksa dk la{ksi esa mYys• dhft,A

  Throwing light on the problem of domestic violence in the Indian context, briefly mention 
its main causes and current legal measures.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % (2-3) Hkkjr esa çoklh etnwj fdls dgk tkrk gS\ vkarfjd çoklu dh ço`fÙk;k¡] çeq• jkT; rFkk 

lacaf/r vk¡dM+ksa dk mYys• dhft,A

  Who is called a migrant labourer in India? Mention the trends of internal migration, major 
states and related statistics.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-4) Hkkjr esa vkS|ksxhdj.k vkSj lkekftd ifjorZu ds dkSu&dkSu ls udkjkRed çHkko ns•us dks 

feys gSa\ Li"V dhft,A

  What are the negative effects of industrialization and social change seen in India? Explain.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

SECTION-A/[kaM  - v
ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA (7 × 10 = 70)

  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks.
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ç'u % (2-5) dksjdw tutkfr }kjk euk, tkus okys flnksyh vuq"Bku dh fo'ks"krk,¡ D;k gSa\ Li"V dhft,A

  What are the characteristics of Sidoli ritual celebrated by the Korku tribe? Explain.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-6) ekuo thou esa laLÑfr dk D;k egÙo gS\ Li"V dhft,A

  What is the importance of culture in human life? Explain.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

SECTION-A/[kaM  - v
ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA (7 × 10 = 70)

  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks.
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ç'u % (2-7) Hkkjr dh tukafddh; fofo/rk ds çeq• igyqvksa dk o.kZu djsa ,oa blds lkekftd&vkfFkZd 
fodkl ij çHkko Li"V djsaA 

  Describe the major aspects of India's demographic diversity and explain its impact on 
socio-economic development.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

iz'u % (2-8) uxj fu;kstu dks çHkkfor djus okys çeq• dkjd dkSu&dkSu ls gSa\ muds çHkkoksa dk la{ksi 
esa o.kZu dhft,A

  What are the major factors affecting town planning? Briefly describe their impacts.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

SECTION-A/[kaM  - v
ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA (7 × 10 = 70)

  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks.
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ç'u % (2-9) Hkkjr Hkou dh LFkkiuk] mís'; ,oa çeq• ?kVdksa dk laf{kIr o.kZu dhft,A 

  Briefly describe the establishment, objective and main components of Bharat Bhavan.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-10) Hkkfj;k tutkfr ds çeq• R;kSgkjksa vkSj lkaLÑfrd ijaijkvksa dk la{ksi esa o.kZu dhft,A  

  Briefly describe the main festivals and cultural traditions of Bharia tribe.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

SECTION-A/[kaM  - v
ç'u % 2- bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA (7 × 10 = 70)

  This question contains 10 short answer type sub-questions. Answer each question ideally in 
60 words. All questions are compulsory. Each question carries 07 (seven) marks.
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ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA (10 × 5 = 50)

  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.  

ç'u % (3-1) la;qDr ifjokj dh fo'ks"krkvksa] mldh lkekftd Hkwfedk rFkk fo?kVu ds dkj.kksa dk 
fo'ys"k.k dhft,A

  Analyse the characteristics of joint family, its social role and the reasons for its 
disintegration.

vFkok@OR
vk/qfudrk dsoy HkkSfrd çxfr ugha] cfYd lkekftd ewY;ksa] laLFkkvksa ,oa O;ogkjksa esa O;kid 
ifjorZu dh çfØ;k gSA bl dFku ds vkyksd esa vk/qfudrk dh çeq• fo'ks"krkvksa rFkk Hkkjrh; 
lekt ij mlds çHkkoksa dh foospuk dhft,A

  Modernity is not only material progress but also a process of extensive change in social 
values, institutions and behaviour. In the light of this statement, discuss the main 
characteristics of modernity and its effects on Indian society.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

ç'u% (3.1) continued (tkjh)
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ç'u % (3-2) ¶xzkeh.kokn u dsoy ,d fodklkRed vo/kj.kk gS] cfYd ;g lkekftd U;k; vkSj 
Lokoyacu dh vksj Hkh vxzlj djrk gSA¸ bl dFku ds çdk'k esa xzkeh.kokn dh çeq• 
fo'ks"krkvksa vkSj mldh çklafxdrk ij fopkj dhft,A 

  "Ruralism is not only a developmental concept but it also leads towards social justice and 
self-reliance." In the light of this statement, consider the main characteristics of ruralism 
and its relevance.

vFkok@OR

¶oS'ohdj.k ds ykHkksa ds lkFk&lkFk mlls mRiUu pqukSfr;ksa dk Hkh foLr`r o.kZu dhft,A fo'ks"k :i 
ls lkekftd] vkfFkZd ,oa lkaLÑfrd Lrj ij blds çHkkoksa dk fo'ys"k.k djsaA¸ 

  "Along with the benefits of globalisation, also describe in detail the challenges posed by it. 
Analyse its effects especially at the social, economic and cultural levels."

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u% (3.2) continued (tkjh)

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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ç'u % (3-3) lkeqnkf;d fodkl dk;ZØe dh foiQyrk ds çeq• dkj.kksa dk fo'ys"k.k djrs gq, crkb, 
fd bu dfe;ksa dks nwj djus ds fy, dkSu&ls lq/kjkRed mik; fd, tk ldrs gSa\

  Analyse the main reasons for the failure of the community development programme and 
tell what corrective measures can be taken to overcome these shortcomings.

vFkok@OR

lekt'kkL=kh; n`f"Vdks.k ls ewY; (Values) D;k gSa\ muds çdkj vkSj lekt esa egRo dh O;k[;k 
dhft,A

  What are values from the sociological point of view? Explain their types and importance 
in society.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u% (3.3) continued (tkjh)

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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ç'u % (3-4) ¶Hkkjrh; lafo/ku esa /eZfujis{krk dks fdl çdkj ifjHkkf"kr fd;k x;k gS vkSj O;ogkj esa 
mrkjk x;k gS\ Hkkjr ds /eZfujis{krk ekWMy dks if'peh ekWMy ls fdl çdkj fHkUu ekuk 
tk ldrk gS\¸ Li"V dhft,A 

  “How is secularism defined and practiced in the Indian Constitution? How can India’s 
model of secularism be considered different from the Western model?” Explain.

vFkok@OR

¶ca/qvk etnwjh u dsoy vkfFkZd 'kks"k.k cfYd ekuoh; xfjek ds ekSfyd mYya?ku dk çrhd 
gSA¸ bl dFku ds vkyksd esa ca/qvk etnwjh dh lkekftd&vkfFkZd i`"BHkwfe] orZeku fLFkfr rFkk 
mlds mUewyu gsrq ljdkjh ç;klksa dh leh{kk dhft,A  

  “Bonded labour is not only a symbol of economic exploitation but also a fundamental 
violation of human dignity.” In the light of this statement, review the socio-economic 
background of bonded labour, its current status and government efforts to eradicate it.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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ç'u% (3.4) continued (tkjh)

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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ç'u % (3-5) Hkkjr esa fnO;kaxtuksa dh çeq• leL;kvksa dk lE;d~ fo'ys"k.k djrs gq, crkb, fd mudh 
lkekftd ,dhdj.k ,oa l'kfDrdj.k ds fy, dkSu&dkSu ls Bksl mik; fd, tk ldrs gSa\

  While analysing the major problems of the disabled in India, tell what concrete measures 
can be taken for their social integration and empowerment?

vFkok@OR
jk"Vªh; f'k{kk uhfr 2020 ds çeq• çko/kuksa dk laf{kIr fooj.k çLrqr djrs gq, ppkZ dhft, fd 
;g uhfr Hkkjr dh f'k{kk ç.kkyh dks lekos'kh] yphyk vkSj lelkef;d cukus esa fdl çdkj 
lgk;d gSA

 Give a brief description of the major provisions of the National Education Policy 2020 and 
discuss how this policy is helpful in making India’s education system inclusive, flexible 
and contemporary.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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ç'u% (3.5) continued (tkjh)

 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

ç'u % 3 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn gSA lHkh 
ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA        (10 × 5 = 50)   

  This question contains 05 long answer type sub-questions. Answer each question ideally in 200 
words. All questions are compulsory. Each question carries 10 (ten) marks.  
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